6/H-73 (vii) (Syllabus-2015)
2019
( April )

COMPUTER SCIENCE
( Honours )

( Software Engineering )
(Cs-601 T)
Marks : 37

Time : 2 hours

The figures in the margin indicate full marks
Jor the questions

Answer one question from each Unit

UNIT—]

1. (@) What is a system? Write a short note on
the types of system. 1+3=4

(b) Briefly explain any four ways in which
data can be gathered for the purpose of
requirement analysis. 4

2. (a) Write a note on any five roles that a
systems analyst has to perform. 5

(b) What are the activities performed during
feasibility analysis of a new system? 3
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UNIT—II
(@) What is software crisis? Briefly
elaborate three factors that have

contributed to the making of the present
software crisis.

(b) Briefly €xplain the design phase of the

Waterfall mode], | 2
Eexwlr):la;:mthet e}\::) lutionary model of software
) ent, highlightics ; and
dlsadvantages. ghting its advantages 126
UNIt—gg

Elg Hon-oriented design-
S borate op the properties of a 2009 3|

) List some
CCcur ¢

| planning_

Possible effects that fna}i
% poor software projec” 3

. ‘ f
¢ major ghortcomings °

e eit
Mmetric in order to us s

®)  Give
. k .
of ris 2 _

1+3=4

(c)

7. (a)

(b)

8. (a)

(b)

(c)
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Bookstores get a trade discount of 25%
if the order is for 6 copies or more. For
orders from libraries and individuals,
5% discount is allowed on orders of
6-19 copies per book title; 10% on
orders for 20-49 copies per book title;
and 15% on orders for 50 copies or
more per book title.

Develop a decision tree for the above

process description. 4
UNIT—IV
What are the symbols wused for

constructing a DFD? Briefly elaborate
on some of the shortcomings of the DFD
model. 1+3=4

Mention the differences between Activity
diagram and State chart diagram. 4

What are the differences between a
Flow Chart and a Structure Chart? 3

Compare the relative advantages of
textual and graphical user interfaces. 3

Write down the importance of data
dictionary in the context of good

software design. 2
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UNIT—V

. is it
(@) What is meant by code review? Why is

re
required to pe completed befo
performing System testing?

(b) Distinguish between integration testin
and system testing,
10. @) whyt is
between fault

(®)  Explajn the
and SOftware

9‘

debugging? 1)is,|ain§t$‘:1)=3
and fajlure.

terms software reliabilil;yx2=3
Quality management. 1%
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2019
( April )

COMPUTER SCIENCE
( Honours )

( Compiler Design )
( CS-602 AT )

Marks : 7 5

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer one question from each Unit

uni—I
1. g '.
(@) What is a token? 1dentify a;nhd detgm$9
how many tokens are there 1o |
ement * 2+2=4

(b) What is &

phases of & compiler
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a .
'?tomatOn (DFA)d sterministic  finite

ldenti to :
ntifier (Note : Ap identli'ftzcogmze o
er can start

with a Jette
. r
digits), followed by either letters or

2. (@) ConStruct

() Express the f;OHoﬁ

€. . n .
xpress,mn . _ g using a regular

() Th
X e?gtqfau.sl.gsofa’ 15
tall]n . . . S an ?,
gvn&lazuulendhughlaas

Determ;, an  ampj
elfthe'gra;g;:us grammar?
ar

is .
ambiguoyus o not .
’ : 3+4=7
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2x4=8

2+2+2+2=8

(3)

4. (a) Find the FIRST and FOLLOW of each
nonterminal in the following grammar

and construct the LL (1) parsing table. 10
€ -TE E—+TE |, T>FI, T2 *FT |, F — (E)lid}

(b) Explain operator grammar and the
precedence relationship symbols with
the help of examples. 5

unit—III
expression? Explain with

type expressions.
2+6=8

S. (@) Whatisatype
an example any two

nderstand by scope?
rrent scopeé and
two methods

ables with
1+2+4=T7

(b) What do you Y
Differentiate betweer cu
open scope. What are the
for implementing symbol t
nested lexical scoping?

important
two
2+6=8

equivalence

6
+ (@) Why i e
y oP g? Describe the

during type checkin

categories of equivalence;-

(b) What is the possible set of opf:rations on

a symbol table? Compare linear tazie

versus ordered list with respect 0 2e+5=7
operations on the tables.
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UNIT—]v

is g .
Mention the errl:t?t-iume environment?
Manageq during rurels that are to be

time.

€Xpression g +(b-c)* dCode for the

(c)  For
the tg
Grammar e Ble below

H

S .
E 2k wﬁc actions
5B B, ot Bcodellgen d 5 |
E+E, E. place = ne“rte,',',git; (id. place ‘:=’E. place)
E.code .- pPl);
—— | E. place-. £y.code o
E~p g, 21 Placey: Ez.pzc!c':g""”de”gen (E. place*:=
. E.Phwe = newtem () I
: : E.code Pl);
| B plgsoarode ' ,
E-o-p 5 Place™’ £, oy > *°elIEen (E. place’:=
.Plaoe = ne’Wtemp( );

E.code: -
Ex-code|gen (£, place*: = uminus’

— |,
— =

N e ——
an
Sedes
(i)s::-ethe fqyowmg: — 1 )‘;:6_‘
attﬁbut:: t;rminal E ha; two
values o - Place for holdi
po/1791 T E and Bowe fr 8

{ Continued )

(a)

(b)

\

(5)

sequence of three-address
statements corresponding to the
evaluation of E .

(i) The nonterminal S has only one
attribute” Scode which is a
sequence ~ of ‘three-address
statements

(iii) The terminal symbol id has one
attribute. id.place containing the
name of the variableto be.assigned

The function newtemp( ) without
any argument returns a unique
new quadruple

n gen). accepts a string
‘ ; three-address

(iv)

(v) The functio
and produces. 2
quadruple

|’ is used to join two

(vi) The operatot ‘|
gments

three-address code sé

What is a display? How does .it?he‘lp 1;1 o7
speeding up program .e;:ecggct? )

What are the features. of threeiagg;es;sf
Code? Show the possible trans : on ©
an assignment' sta;émep m
three-address code:
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9. (a) Why is

(b)

10. (q)
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UNIT—V

it necessary to break th;
intermediate coge into basic blocks

Write down the intermediate code for
the following code fragment, and show
the basic blocks and the control flow

=8
within them, 2+6
begin

Prod =}

term = 1

while term <= 20 do

Prod = prod * term

term = term + 1
end

end
What are the two conditions that any
Obtimizing Compiler should satisfy?

Mention any two factors that influence 4=7
the Optimization Process. 3

In the following Program, what is the
€West number of registers that ?Ie
needed withgy spilling? Explain using
an inference graph angd g colouring of

the graph, Also show the program after =12
register allocation. rara=

a=10
b =29
c=30

( Continued )

t
(b) What do you unders
reduction as

Do 50071701

t7)

d:a‘l’b
e=c+d
f=c+e
b=c+te
e=b+f
d=15+¢€ )
+
return d and by strength

ique?
an optlmlza
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